CHAPTER 7 REVIEW
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Determine whether the given values represent an acute, right or obtuse triangle.

43.20,21,28 44.14, 48,50
e ~
f(o‘n\":m >1§?H % +4kT SO
o0 ¥
| [[{(’ _',230‘{ = 2(90
(Arente (oot ]
45. 5,12,18 46. 5,5,5V2
L
1 v 2
5o\ 5%s* (852
EXa 285 ¢ 18 (AR
= §o

25 v 1yt

log < 31 v
(Hewte 1
Find the value of each variable in the special right triangles. Leave your answer in simplest

radical form.
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Use trigonometric ratios to find the given value. Round answers o the nearest tenth.
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CHAPTER 8 REVIEW
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Find the sum of the interior angles of the indicated convex polygon.
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The sum of the interior angles of a convex polygon is given. Classify the polygon by the number of
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Find the value of each variable in the parallelogram.
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Find the value of x that makes the quadrilateral a parallelogram. @
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Find the measure of ZK in the Kkite
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Find the perimeter of the kite. Round your answer to the nearest hundredth.
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Give the most specific name for the quadrilateral and explain your reasoning.
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Points P, Q, R, and S are the vertices of a quadrilateral. Give the most specific name fro PQRS.
Justify your answer.

75. P(-1,3), Q(4, 2), R(1, -1), S(-4, 0)
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